
Catrike 
2016 Stanhome Way 

Orlando, FL 32804 

  

559 & 700 Rack 

ITEM NO. PART NUMBER DESCRIPTION QTY. 

1 RACKTIME FOLDIT RACK See Racktime instructions for rack assembly 1 

2 RACK STAY Cut to length 2 

3 1” TUBE CLAMPS   2 

4 M5x20 SHCS M5 SOCKET HEAD SCREW, 20mm LONG 1 

5 M5x16 SHCS M5 SOCKET HEAD SCREW, 16mm LONG 2 

6 M5x12 SHCS M5 SOCKET HEAD SCREW, 12mm LONG 1 

7 M5 WASHER   2 

8 M5 NYLOCK NUT   2 

 

Suggested rack stay lengths 

 

                                                                                                                                                559 12”      700  12-3/8” 

                                        559                                                                                                                700 

 

LEFT Drop Out    RIGHT Drop Out      Tube Clamp  


